que sirve para cleular

la. diferencia  entre
dos nUMeres.

5372 . _\\‘ swltaendo
" diferencio

formas de resolver:

{ @ B\o%ves de lose 1o

3" - & : W
» 531 é% ij g : 755




@ Nomerss coneclodos

,‘m“--.-‘

(300 @),

; ‘*J"""—’:—':"
W) (B3
‘:'\— é---.-.-,-.-.\. ...3..\}// S~
90 - 200 = 500 50 + 30 +2 = 5§32
MNi=520: =220 V\ /\
9=3 =72
A @(JG V Gidado con
d sigho-
“ @ Metodo odiconal.
155
- 913 pewmos S\empvﬂ
g R | de las Un\dadQS
531
Aclorwm
/—5 712\ I\L‘ /
C/ 11(/5 / éo) 40\
S 0 - 40 =30 GO0 - 200 = 400
G0 +3= ) 605 +30 = 635 15 GO0 =10




